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1. Thevalueofy Xy X yis

(i) (=2y3) (i) 33 (i) ¥ (v) 2¥3 (v) 0O

2. The value of 3fXfX3fX5is

(i) 42F (i) 454 (iii) 46 (iv) 478 (v) 448

3. The value of 812 x 32 is

(i) 22v* (i) 25v* (i) 26V* (iv) 24V* (v) 23/%

4. The value of(—3x2) X2x ><4x2 is

(i) (=21x°) (i) (=23x°) (iii) (=24x2) (iv) (=25x°) (v) (—26x°)

5. The value of (6j+6) X (3/+4)is

(i) (19/2+42j+24) (i) (20/2+42j+24) (i) (15/2+42j+24) (iv) (18/2+42/+24) (v) (17/2+42/+24)

6. The value of (362 +5b—8) X (=5b2—7b+9)is
(i) (=14b%-46b3+32b2+1016-72) (i) (—15b%—46b3+32b62+101b-72)
(i) (—18b%—46b63+326%2+101b-72) (iv) (=13b%—46b3+32b62+101b-72)

(v) (—16b6%—46b63+326%+101b-72)

7. The value of(552—35—7)><(452+s+3)is
(i) (21s%-753-1652-165-21) (i) (20s*-753-1652-165-21) (iii) (195*-753-165%2-165-21)

(iv) (225%-753-165%2-165-21) (v) (17s%-753-1652-165-21)

8. The value of(2u2—3u)><(—3u2—4)><(2u—9)is
() (—14w°P +720*=9703 +960% —108u) (i) (—9uP +72u*-97u3 +961u% —108u)
(i) (—=120P+720%-970u3+961u%-108u) (iv) (13w +72u*—97u3 +960u2 —108w)

() (=11P+72u* =973 +96 1% -1080)



3 3 1
9. The valueof-bXx—-bx—-bis
5 5 2

7 3 11 9 9
o p3 iy 2p3 iy Ste3 (iv) b3 23
0 50 (i 16 (i 50 (V) 52 W) 50

4 1 1 3 .
10. The value of = X—rxX— X-ris
5 3 4 4

1 3 1 1 1
—r r - r r
(i) 18 (i) >0 (iii) ( >0 ) (iv) > (v) >0
1, 1.
11. The value of—j¢ X—Jis
5 5
1 1 1 3 1
| Il 11 v Vv -
()25/ ()23/ ()27/ ()25/ ()(25/)

1 2 2 2 2 2
12. The value of —j¢ X—j¢ X —j% is
3 3 3

4 2 4 2 4
(i) 29/ (ii) 9/ (iii) 25/ (iv) 27/ (v) 27/

13. The product of the terms(—=2/m) ,4/,(=2/m),(=1),2 s

(i) (=35Pm?2) (i) (=30Pm?) (i) (=32Pm?) (iv) (=31Pm?) (v) (=33Pm?)
14. The product of the terms(—-2n),(=2/mn),/m,(=5),2is

() (=392 m2n?) (i) (=38P m?n?) (i) (=41Pm?n?) (iv) (=42P2m?n?) (v) (=402 m?n?)

15. The product of the terms(—-4),1,(-2),(-1),2is
(i) (=14) (i) (=15) (i) (=19) (iv) (=16) (v) (=17)

16. The value of(—60) X8pis
(i) (=500p) (i) (—480p) (iii) (—=470p) (iv) (—490p) (v) (—460p)

17. The value of 6 X (—6b) X(—=5bc) X 8bis

(i) 1439b63c (i) 1440b63c (i) 1438b3¢c (iv) 1441b3c (v) 1442b3¢

18. The value of5a% X (=2b2)is

(i) (=12a2b2) (i) (=10a%b%) (i) (=11a2b2%) (iv) (=7a%b%) (v) (—9a2b?)

19. The value of k X (—=3/) X(—=9km) X(—8m) is

(i) (=216k2/m?) (i) (=217K%2Im?) (iii) (=215k%/m?%) (iv) (=214k%Im?) (v) (-218k%/m?)

20. The value of 3 (—ab+1)is
(i) (=3ab+3) (i) (—3ab+6) (iii) (—4ab+3) (iv) (=3ab) (v) (—2ab+3)



21. The value of 3/m (5/2=2/m?)is
(i) (15Pm=92m3) (i) (15Pm-4m3) (i) (15Pm—-6/2m3) (iv) (14Pm-6/~m?3)

(v) (16°Pm—-6/~2m3)

22. The value of m (3/</2+3m2) is

(i) (3kPm+5m3) (ii) (3kPm+3m3) (i) (3kPm+m3) (iv) (2kPm+3m3) (v) (4kPm+3m3)

23. The value ofst(—452t2u2+52t2u+4tu2)is
(i) (=338 U2 +38Bu+as2u?) (i) (—4s38302+453Bu+ast?u?) (i) (=553 U2 +s3Bu+4ast2u?)
(iv) (—4s380%2-s3Bu+ast?u?) (v) (-4538 02 +s3Bu+ast?u?)

11 2 .
24. The value of— (=bc+—b)is
45 3

) 1 1 B 1 1 1 1 ) 1 1 1 1
(i) (18bc+6b) (ii) (22bc+6b) (iii) (20bc+6b) (iv) (zobC—Gb) (v) (20b6+2b)

1 3 » 1
25. The value of = (Zh%2/2+=h2)is
25 2

3 1 3 3 3 1 3 1 1 1
; . 272 _ 2 T . 22 2 “h2 2 2 ; 22 2 22 2
(i) (10h / 4h ) (ii) (10h / +4/7 ) (iii) (8h / +4h ) (iv) (10/7 li +4h ) (v) (4h / +4h )

1 1 1
26. The value of-2/(-3k2/m2+-2k2/) is

3

k2 12)
4

1 1 1 1 1 1 1
() (SK2Pm2+=K212) (i) (ZK2Pm2+=K212) (iii) (Zk2Pm2-"k212) (iv) (=k?2Pm?2+
4 4 6 4 6 4 6

1 1
(V) (Zk2Pm?2+=k?12)
8 4

1 1 2 1 2
27. The value of—op (=n4+—-no+-n)is

2 3 2 5

(M) (1n20p+1n02p+1nop) (ii) (1n20,0+1n02p+1nop) (iii) (1n20p 1n02,0+1nop)

i) (- i i -

6 4 5 4 4 5 6 4 5
(iv) (1n20 +3no2 +1no ) (V) (1n20 +1no2 +1no )
iv) (- - : v) (- :
;12 op+7no?p+ _nop oo+ no2p+_nop

28. The value of(—=3u+4) X(—uv+3)is

(i) (3uvlv—4uv—9u+12) (i) (3v2v—uv—9u+12) (i) (3v2v—6uv—9u+12) (iv) (2u%v—4uv—9u+12)

(v) (4u2 v—4uv—-9u+12)



29.

30.

31.

32.

3, 3,
The value of -/ X — is
4 4

() S5 ) 2 (i) ) (V) —f ()
| 16/ 1] 2/ 11 16/ v 14/ \' 16/

2 2 1 1
The value of = X —t X —tu X —tu is
3 3 2 2

1 1 1 1 1
NS U2 (i —B3u2 (i Bue (i — 2132 Z342
(i) 3 us (i) 3 us  (iii) 5 us  (iv) ( 5 uc) (v) 5 u

3 1 2 2 .
The value of-4qs X 2q r<is

3 5 1 1 3
H 3 2 H 3 2 H 3 2 H 3 2 3 2
| q-r=s (i q-r=s (u q-r<s (v q-r<s (v q-r<s

Th | f1 x4 r><3r><2r'
e value of: - - —ris
zpq 5'0 4 5

1 3 1 1
(i) 5p q (ii) 25/9 q (iii) 9p q (iv) 25p q (v)

3

23



Assignment Key

1) (iii) 2) (ii) 3) (iv) 4) (iii) 5) (iv) 6) (ii)
7) (ii) 8) (iii) 9) (v) 10) (v) 11) (i) 12) (v)
13) (iii) 14) (v) 15) (iv) 16) (ii) 17) (ii) 18) (ii)
19) (i) 20) (i) 21) (iii) 22) (ii) 23) (v) 24) (iii)
25) (iv) 26) (ii) 27) (i) 28) (i) 29) (iii) 30) (v)
31) (i) 32) (i)
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